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1.

-

Which of the following depicts the proper sequence of steps in the accounting cycle?

a. Journalize the transactions, analyze business transactions, prepare a trial balance.

b. Prepare a trial balance, prepare financial statements, prepare adjusting entries.

c. Prepare a trial balance, prepare adjusting entries, prepare financial statements. e
d. Prepare a trial balance, post to ledger accounts, post adjusting entries.

A contingent liability should be recorded in the accounts if it is

a. probable and reasonably estimable.

b. reasonably possible

¢. remote.

d. bath (a) and (b) above.

. The inventory methods that result in the most current costs in the balance sheet and income statement are

Income Statement Balance Sheet

a. FIFO FIFO
b. LIFO FIFO
c. LIFO LIFO
d. FIFO LIFO

If the entry to record the purchase of inventory is inadvertently omitted, but the item is correctly included in
ending inventory, the effect when using the periodic inventory method is

Net Income Assets .
a. Overstated No effect
b. Overstated Understated
c. Overstated Overstated
d. No effect No effect

When the allowance method is used for bad debts, the entry to write off and individual account known to
be uncollectible involves a
a. debit to an expense account.
b. credit to an expense account.
¢. credit to the allowance account.
d. debit to the allowance account.
When recording exchangers of similar assets,
a. losses are recognized immediately.
b. the gain or loss on the old asset is the difference between its cost and its fair market value.
c. gains are treated as in creases in the cost of the new asset.
d. None of above.
Under the equity method of accounting, the investment in common stock is initially recorded at cost and the
investment account is subsequently %
a. credited for cash dividends received. -

b. debited for the investor’s share of investee net income.
c. debited for cash dividends received and credited for the investor’s share of investee net income.
d. Bothaandb.

Dividends in arrears on cumulative preferred stock
a. are considered to be a non-current liability. )
b. are considered to be a current liability. ‘
c. only occur when preferred dividends have been declared. $%ﬁ%@ it
d. should be disclosed in the notes to the financial statements.
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9. Stock dividends and stock splits have the following effects on retained earnings:

toc Stock Dividends
a. Increase No change
b. No change Decrease
c. Decrease Decrease
d. No change No change

10. When a change in accounting principle occurs,
a. all prior years’ financial statements should be changed to reflect the new ly adopted principle.
b. the new principle should be used in reporting the results of operations of the current year.
c. the cumulative effect of the change in principle should be reflected on the income statement as of the
beginning of the next year.
d. the cumulative effect of the change in accounting principle should be classified as an extraordinary
item on the income statement. '

- The following balance sheet contains errors (23%)

Lopez Services Co.

Balance Sheet
For the Year Ended December 31, 20—
Assels Liabiliti
Current assets Current liabilities:
Cash....ocenvnininnennn. $ 6,170 Accounts receivables........ $ 9,000
Accounts payable....... 8,500 Accum. depr-bulding....... 13,525
Supplies.......cceannenne 1,590 Accum. dper-equipment.... 6,340
Prepaid insurance....... 345 Net income.........coevvnene. _ 12,500
Land.....c.cccuvunennn.n.. 25,000
Total current assets $41,605 Total Liablities $41,365
Property, plant, and equipment: Wages payable......... $ 500
Building.................. $ 45,500 Matty Lopez, capital___74.490
Equipment............... 28.250 Total owner’s equity.............. $_74.990
Total property, Plant, and equipment......__73,750 ,
o Total assets...........cevevvneennennnnnnne....$116.355 Total liabilities and owner’s equity$__116.335

Instructions: Prepare a corrected balance sheet.

AR H@EPEF

= Statement of Cash Flows (10%)

The net income reported on the income statement for the current year was $300,000. Depreciation recorded on
fixed assets and amortization of patents for the year were $50,000 and $12,000, respectively. Balances of
current asset and current liability accounts at the end and at the beginning of the year are as follows:

End Beginning
Cash $ 50,000 $ 60,000
Accounts receivable 112,000 108,000
Inventories 105,000 93,000
Prepaid expenses : 4,500 6,500
Account payable
(merchandise creditors) 75,000 89,000

What is the amount of cash flow from operating activities reported on the statement of cash flows prepared by
the indirect method?
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SITHREGRE $ 96,830
n: fERTERK $ 25,000
SBRITFER 1,200
EXT BB 2,000 28.200
125,030
W RAEEYE $ 42,630
BT R 15,000 — 351,630
67400
XENFAARBESRBWT:
SRITIR LEE
Eaosk $ 288,500 $ 272,800
FERRAC #% 300,000 295,000
BEACH 5,500 2,000
Fing 800 1,200
RE = 2,000 15,000
e

(1) HEARETBEZERFRRRRELH -
(2) HEARAZTHRTRAREISRE -

Q) HHAA=ZTHERZHSRE -

(4) RATAA=Z+HESEBRIERE 2% -
() BITAR=ZTHREMEMERE 25 % -
(FEFIRIEIFZ 2 ST B E 5 8%)

BALAER 89 £ 3 H 1| HBERITAHE 12%HE#2 A R - EEES 2,000,000 F43 51 H
59 A1 HEME—R-EILATN 894 5 A 1| HATHEARME HAFSIHLEHESE $1,986,900-
ST 90 £ 11 A 1 H » 11403,200 A SILA T $400,000 2 A AR RIINE - 93
4 H 1 BHAILAEILL 420,000 BB 844/ TR E4$400,000 Z 2 FMH - W FLAGESE - 4
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HE: '
(1) HIEAT 89 FEHEEMATME 2SN (9%)
(2) $HEAT 90 FEMBFRRZ AW (6%)
(3) BF4H1 HESLEE Y% (8%)
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